# A combinatorial proof of a general two-term recurrence

Sabrina X.M. Pang<sup>1</sup> and Lun Lv<sup>2</sup>\*

<sup>1</sup>College of Mathematics and Statistics

Hebei University of Economics and Business, Shijiazhuang 050061, P.R. China
<sup>2</sup>School of Sciences

Hebei University of Science and Technology, Shijiazhuang 050018, P.R. China Email: stpangxingmei@heuet.edu.cn; klunlv@gmail.com;

#### Abstract

We give a short combinatorial proof for the solution of a general two-term recurrence  $u(n,k) = u(n-1,k-1) + (a_{n-1}+b_k)u(n-1,k)$ , which was discovered by Mansour et al. [4].

Mathematics Subject Classification. 05A05, 05A19 Key words. Stirling number, Lah number, recurrence, combinatorial structure

### 1 Introduction

Let  $(a_i)_{i\geq 0}$  and  $(b_i)_{i\geq 0}$  be sequences of complex numbers where the  $b_i$ 's are distinct. Mansour et al. [4] discovered a two-term recurrence

$$u(n,k) = u(n-1,k-1) + (a_{n-1} + b_k)u(n-1,k), \ n,k \ge 1, \tag{1.1}$$

with boundary conditions  $u(n,0) = \prod_{i=0}^{n-1} (a_i + b_0)$  and  $u(0,k) = \delta_{0,k}$ , where  $\delta_{i,j}$  is the Kronecker delta function. This recurrence relation is a generalization of the recurrence formulas for the Stirling numbers and the Lah numbers [1,3,5,8,9]. Using generating functions, the authors [4] derived the following formula.

#### Theorem 1.1.

$$u(n,k) = \sum_{j=0}^{k} \frac{\prod_{i=0}^{n-1} (b_j + a_i)}{\prod_{i=0, i \neq j}^{k} (b_j - b_i)}.$$
 (1.2)

<sup>\*</sup>Corresponding author: Lun Lv, klunlv@gmail.com

Recently, Simpson [6] also presented an inductive proof of formula (1.2). In this note, we will give a short combinatorial proof of Theorem 1.1 showing its equivalence to a basic result from the theory of Schur functions.

## 2 A combinatorial proof of Theorem 1.1

Let  $S = \{a_i\}_{i\geq 0} \cup \{b_i\}_{i\geq 0} \cup \{1\}$ . To construct a combinatorial structure for the recurrence (1.1), we consider the set of words  $w = w_1 w_2 \cdots w_n$  on S satisfying the following conditions:

- There are exactly i letters to the left of each  $a_i$ ;
- There are exactly i 1's to the left of each  $b_i$ .

Denote by  $\mathcal{U}_{n,k}$ , the set of such words of length n containing exactly k 1's, and by P(w), the product of all the letters within a word w. For example,  $w = 11b_2a_3b_21b_3a_7$  is a word in  $\mathcal{U}_{8,3}$  and  $P(w) = a_3a_7b_2^2b_3$ . Define  $p(n,k) = \sum_{w \in \mathcal{U}_{n,k}} P(w)$ . For a word  $w = w_1w_2 \cdots w_n$  in  $\mathcal{U}_{n,k}$ , it is possible that  $w_n = 1$  or  $w_n = a_{n-1}$  or  $w_n = b_k$ . This implies p(n,k) satisfies the same recurrence relation as (1.1) along with the same boundary conditions. It follows that p(n,k) = u(n,k).

Based on the above combinatorial interpretation of u(n,k), we proceed to give an expression for u(n,k). Consider the terms of u(n,k) with exactly t  $a_i$ 's, that is,  $a_{i_1}, a_{i_2}, \ldots, a_{i_t}$  where  $0 \le i_1 < i_2 < \cdots < i_t \le n-1$ . These terms correspond to the words in  $\mathcal{U}_{n,k}$  with exactly t  $a_i$ 's whose positions are determined by the index sequence  $i_1, i_2, \ldots, i_t$ . To obtain such words, we need to fill the remaining n-t positions by n-k-t  $b_i$ 's and k 1's. Each filling can be determined by the index sequence  $j_1, j_2, \ldots, j_{n-k-t}$  of  $b_i$ 's with  $0 \le j_1 \le j_2 \le \cdots \le j_{n-k-t} \le k$ . Therefore, the coefficient of the terms in u(n,k) with exactly t  $a_i$ 's is

$$h_{n-k-t}(b_0, b_1, \dots, b_k) = \sum_{0 \le j_1 \le j_2 \le \dots \le j_{n-k-t} \le k} b_{j_1} b_{j_2} \cdots b_{j_{n-k-t}}.$$
 (2.1)

where  $h_{n-k-t}(b_0, b_1, \ldots, b_k)$  is the complete homogeneous symmetric function, see [7].

*Proof of Theorem* 1.1. We only need to prove that the coefficient of the terms with exactly t  $a_i$ 's in (1.2) is the same as (2.1).

It is clear that the coefficient of the terms with exactly t  $a_i$ 's in (1.2) equals

$$\sum_{j=0}^{k} \sum_{\substack{i=0, i\neq j \\ i=0, i\neq j}}^{b_{j}^{n-t}} (b_{j}-b_{i}) = \sum_{\substack{j=0 \\ 0 \leq i < j \leq k}}^{k} (-1)^{j} b_{j}^{n-t} \prod_{\substack{0 \leq i < m \leq k \\ i, m \neq j}} (b_{i}-b_{m}) = \frac{\det(b_{i}^{\lambda_{j}+k-j})_{i,j=0}^{k}}{\det(b_{i}^{k-j})_{i,j=0}^{k}}. \quad (2.2)$$

with  $\lambda_0 = n - k - t$ ,  $\lambda_1 = \lambda_2 = \cdots = \lambda_k = 0$ , by cofactor expansion along the first column and the formula for Vandermonde's determinant. (For a combinatorial proof of Vandermonde's formula, see [2].) The expression (2.2) equals (2.1) by applying [7, Theorem 7.15.1]. This completes the proof.

#### Acknowledgments.

We would like to thank the referees for helpful suggestions to improve the presentation. This work was supported by the National Natural Science Foundation of China, the Natural Science Foundation of Hebei Province (Projects A2012207001 and A2014208152), the One-Hundred Outstanding Innovative Talents Scheme of the Hebei Province Education Department (No. BR2-231) and the Top Young-aged Talents Program of Hebei Province.

#### References

- [1] H. Belbachir and A. Belkhir, Cross recurrence relations for r-Lah numbers, Ars Combin. 110 (2013) 199-203.
- [2] A.T. Benjamin and G.P. Dresden, A combinatorial proof of Vandermonde's determinant, Amer. Math. Monthly 114 (2007) 338-341.
- [3] R.B. Corcino, Some theorems on generalized Stirling numbers, Ars Combin. 60 (2001) 273-286.
- [4] T. Mansour, S. Mulay and M. Shattuck, A general two-term recurrence and its solution, European J. Combin. 33 (2012) 20-26.
- [5] T. Mansour, M. Schork and M. Shattuck, On a new family of generalized Stirling and Bell numbers, Electron. J. Combin. 18 (2011) #P77.
- [6] J. Simpson, A general two-term recurrence, European J. Combin. 34 (2013) 703-705.
- [7] R.P. Stanley, Enumerative Combinatorics, Vol. 2, Cambridge University Press, Cambridge, New York, 1999.
- [8] Y. Sun and X. Wang, Determinants involving generalized Stirling numbers, Ars Combin. 92 (2009) 149-154.
- [9] C.G. Wagner, Generalized Stirling and Lah numbers, Discrete Math. 160 (1996) 199-218.